(o 3o wrerfires Rt whien (e § o), Sers 2022 )
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w3, - 11 ';.gﬂ:!"
A5 : 01:30 T 03:00 HIEYH : |§'3'| ul Py
T 150 AT 9T T Gl gHTAT AT 7% : 32

9T FA A § U Ut Hrt g3 e A it sagEe ug

(1) 39 So9 o & 91T 2| 58d & 9/ - 18 g 9 faw @ gafd 19 25 3R 9 11| gigaan
=reofl fower @ Feiferd 26 § 75 999 9@ T &1 @t 75 93 g HA e 2|

(2) IS T 2 37 b T B

(3) Wo9A A B % [T A 90 Fire 1 Tu feam S|

(4) IW T < o0 Toas TG & S| Teh T AT o G- a1 faehed & 0 aER JEed
few mu 2| 5 @ 9t s - foshed & fdga &1 = fu U sgREmgERr W
3E1. I 5. 6 T el IR ke 3. 2 B, A1 31 feu SR 3 W
TH F. 6 0l JOIO)

(5) = o3 U 3gTetr @ IR 2ifehd R MU IR TR @ fohu S| 3H WehR 3ifeRd fohu MU weA
F IR H YA 37 LI DO

(6) T YA % TOIC T § ATk dreiga § I Afehd fohdl T, Tawgiiehd fohdl T 3T T HoToh a1
fepan e |

(7) TUH 9 3Afehd FhY T IT T G & 1 &l |

(8) faheu o 3T 3ifehd A o TIT Shaet et 3R Hict T1 & Sied= =l & sedaTal | U A 3ifeha
I T T8 T S|

(9) YU % Tk 8 & A SN 3w 98 W F= %™ (Rough work) % T @reft e 2, 9 e
%M (Rough work) &

(10) e i srafer waifed g o Ror Afe foret w9 o1 IT AT L AT &1 A M YT FA Bl
31 H THY §9 W TE T YT o T g TR |

(11) forelt a1 & Ffe /mrercht aftarfera g W widerss a1 qdien ohg darers o fomm fomst a1 &)

(12) w99 ® Ffe /mrercht /gaeh Heaig W foe foemer steran stftrraeni gra wwg freronfersert = freroreferenr
% urg fafea &9 0 7 Aot gefeq faamer & affe 8 St ughd @ & 99|

(13) Ffe/mercht/gaeh ey § Fagd sifaemsd ufgd @ 9+ 61 1afy wlen aftwg o Fcw wom 9 siafm
(rearft) 3 gt & fvd 89 | et 10 (ew) fo o= @it

(14) THU1 QN A1 3 HROT H T T GATerd s R forewg affa o HorRmgar 3 sriar 6 sme |

(15) e "reTy o o1 TS aor § off weAus foom T ] got gream & wfgy wet % for i wee <@
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SECTION - I
ENGLISH

Instructions for Q.01 to Q.03

Read the passage carefully and answer the following questions.
Mani is my favourite cat. Every morning mother gives her some milk.
Sometimes she catches a mouse near the garbage pit. She likes climbing
trees and watching the birds.

01. What does Mani catch?
(1) A pit (2) A mouse
(3) Milk (4) A bird

02. Find the odd term.

(A) Morning (B) Climbing (C) Watching
(1) ‘B’ correct (2) “C correct
(3) ‘A’ correct 4) ‘A, ‘B’, ‘C’ correct

03. Find the rhyming word for ‘Free’.
(1) She (2) Give
(3) Like (4) Tree

04. Fill in the blank with the correct alternative.

Malhar caught a big golden fish his net.
(1) in (2) on
(3) over (4) upon

SPACE FOR ROUGH WORK
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05. Choose the correct comparison for as timid as

(1
3)

06. Look at the picture and select the correct conversation from the given options.

(1)
(2)
(3)

(4)

07.

(1)

(3)

08. Find the smaller hidden word which indicates

rabbit
deer

: Oh, yes!

: You are welcome.
: Whats the time?
. It's two Otclock.

s B —lec s los Bils v s 4

: Sure.

Ladder : D:IA_A_I_A_A—_|

Bl
_I_I_I_I“

L]

word - Handkerchief.

(1
3)

Chick
Hand

)

elephant

(4) wvulture

: Excuse me, uncle. Is this yours?

: Thank you so much for this gift.

: Can you please help me.

English : ?

(2)

(4)

)
4)

1L

Chief
And

‘Head of the unit’ from the

SPACE FOR ROUGH WORK
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09. Complete the word register.
Violin, Tabla, , .
(1) Erraser, Sponge (2) Scene, Museum
(3) Tambourine, Cymbals (4) Mixer, Sieve

10.  Identify the game and select the correct option.

(1) Hop-scotch
(2) Hide and seek
b (3) Marbles

. (4) Skipping-rope

11.  Choose the correctly spelt word.
(1) Compitition
(2) Competition
(3) Compitision
(4) Competision

12.  Identify the underlined punctuation mark in the given sentence.
Ah! At last I will have some rice.
(1) Apostrophe
(2) Comma
(3) Question mark
(4) Exclamation mark

SPACE FOR ROUGH WORK
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13.

14.

15.

16.

17.

Select the proper option to complete the motto.

is wealth.
(1) Money
(2) Health
(3) Currency
(4) Growth

Fill in the blank with correct option.
This advertisement gives offer for festival.

Eid
Pune
Diwali

Christmas

Select the correct alternative.

work quickly.
(1) Lets’ (2) let’s
(3) Let’s (4) ‘Lets

Find the odd man out.
(1) Shiny star (2) Tall tree
(3) Clever house (4) Old man

Which of the following is a request? Choose the correct option.
(1) May I come in? (2) T don’t know.
(3) What are you doing? (4) Please wait for me.

SPACE FOR ROUGH WORK
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18.

19.

20.

21.

Look at the chart and find the correct option.

Halnd
I I I |

Palm Elbow Fingers ?
(1) Beak (2) Tusk
(3) Stomach (4) Wrist
Select the correct option.
February is the month of the year.
(1) second 2) 2
() I (4) two

This clock shows the time

(1) quarter to four
(2) quarter past four
(3) quarter to three

(4) quarter past three

What will you write in the following timeline?

Present Past Future
J J J
Find ? Will find
(1) Will find (2) Found
(3) Finds (4) Was finding

SPACE FOR ROUGH WORK
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22.

23.

24,

25.

At the time of examination, what will you say to your friend? Choose the
proper greeting.

(1) All the best. (2) All in one.

(3) All is set. (4) All sit down.

Select the correct option.

Sunday comes after .

(1) Monday (2) Thursday
(3) Saturday (4) Tuesday

Choose the correct alternative for the given sentence.
gaurav was the captain of ‘a’ division’s team.

(1) Capital ‘G’ for gaurav

(2) Capital ‘A’ for ‘a’ division

(3) Capital ‘C’ for captain

(4) Capital ‘G’ for gaurav and capital ‘A’ for ‘a’ division.

Count the number of question marks in the following conversation.
A : Hello, Ira speaking. Will you come to play with me?

B : Which game?

A : Off course! Basketball.

B

: When?
A: At S5 pm
(1 2 2) 4
3) 0 4 3

SPACE FOR ROUGH WORK
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26.

27.

28.

SECTION - 11

INTELLIGENCE TEST

How many two letter words are more or less than the four letter words in the
given sentence?

“Raju helped Ram while he was climbing Shivneri Fort.”

(1) More by 1 (2) Less by 1 (3) More by 2 (4) Less by 2

In the given alphabet series which letters have occured same number of times?
KPGGPKGHTPDKGPTDP
(1) PG 2) KT 3 TD (4 DP

In the given number series how many times does ‘3’ occur before ‘5’ but ‘4’
does not occur after ‘5°?

(835245353465435356435354357)
(1) 7 times (2) 8 times (3) 6 times (4) 9 times

Q.29 to Q.33 Direction:

29.

30.

Select the odd term

(1) to see - to look (2) dirty - dusty
(3) hand - fore arm (4) poor - weak
A C A B
Q P R Q Q P P R
C B B A B A C
R P R Q
(1) () 3) 4)

SPACE FOR ROUGH WORK
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ABCDE|FGHIIJI|/KLMNO|PQRST|UVWXY
faam - 1
glgaar =AU
26. ‘TEAdt Tg H OATEW HA AHI qohgl USEh! UHH MHR fem’ 3@ gt #

IR A weg hI U qf A weg fohad oAfUes e wH @Y
(1) 1 @ s (2) 1 & &0 (3) 2 @ AFs  (4) 2 ¥ FA

27. @UNTNYIE@ITIIITISTETILIEY
M JFETAT H DY N TUE TR I 77
(1) 97 2) @ 2 3) 2% 4) 9

28. = & W wemfrw § S % wew 3 R, afm ST % w4 T4,
g fhad R g 77

@35245353465435356435354357)

(1) 7 @R (2) 8 @R (3) 6 &KX 4) 9 @R

9T . 29 § 33 & foru g -
T W 9 AT UE UgAH 3I8eh UAM™ AR %k gd ! U Ql

29 (1) @ - TH () W - I (3) TG - Wi (4) T™WE - f@

30. A C A B
Q p R Q Q p P R
C B B A B C A C
R P R Q
(1) (2) (3) (4)
TF HE Fq T
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T ) O o
(D 2)

3) (4)
32. (1) 4 2) 17 (3) 7 @) 12
33. (1) 111 2) 482 (3) 231 4) 362

Q.34 and Q.35 Direction:

Consider the pattern in the given number series and select the correct option
to replace the question mark.

34. 53, 61, 68, 82, ?, 103

(1) 92 2) 91 (3) 89 4) 95
35. 2,4, 7, 12, 19, 30, 2, 60
(1) 47 ) 43 (3) 49 4) 45

36. In the given series of symbols select the correct group from the options to
replace the question mark.
<H X -+ X o< X o<+ <+ x_ ?

b b 9 9

) <x+- @ x-<+ (@) <+tx- (@) >+x-
37.  Select the correct figure from the options to replace the question mark.

Question Figures :
. + A
+ A ° c)

A . + ®
+ A .

Answer Figures :

+ v A + A A

(M 2) 3) (4)

SPACE FOR ROUGH WORK
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31.

32.

33.

() O o

(1) 3) 4)
(1) 4 2) 17 3) 7 @) 12
(1) 111 (2) 482 (3) 231 4) 362

T . 34 T 35 & forw gEAn -

YEAT H FEAIA H WA B I WH H AR TG o TAH W SFHATA
T e 4 ¥ g

34. 53, 61, 68, 82, 7, 103
1) 92 2) 91 3) 89 @) 95
35. 2, 4, 7, 12, 19, 30, 7, 60
(1) 47 (2) 43 (3) 49 (4) 45
36. THRiiga fogl shi Aifctept H TAfHE o TH W AHAT g W § ¥ g
<+ x -, + x - <, x - <+ , - <+ x , 7
(1) <x + - 2) x - <+ 3) <+ x - 4) >+ x -
37. YHMEE % TIM W HA H AW IHA HE-H B?
TYATRTA
. s N v )
. =+ °
4 A .
3t STTRTd
X a
(1 2 3) 4)
TF HE Fq T
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38.

39.

40.

41.

42.

Select the wrong term in the given number series.

1 3 5 7 9 11
326 11 > 17 > 27 > 38

3 11 7 9
mn 3 @ 1 3 5 @ o

In the adjacent figure how many triangles are there?

(1) 8
(2) 10
(3) 11
4) 5

In the following question various faces of a cube are shown. Study them and
find the number which is on the face opposite to 5.

4 2 1 6

2 6 2 5

(1 2 2) 6 3 1 4 4

If Horse is called Camel, Camel is called as Zebra, Zebra is called as Donkey,
then which animal is called as ‘Ship of Desert’.

(1) Horse (2) Camel (3) Donkey (4) Zebra

Ajay is taller than Ramesh but shorter than Sadu. Sameedha is taller than Ajay
but not as tall as Sadu. Who is the tallest?

(1) Sadu (2) Sameedha (3) Ajay (4) Ramesh

SPACE FOR ROUGH WORK

0302-Hindi Set-A 12 of 32 Contd...



ABCDE|FGHTIJ|KLMNO|PQRS ST|UVWXY

38. fiefaflad deamiicisrl &1 Teld Ue ggEy|
13 5 7 95 1
376 11 1727 38
3 11 7 9
) = 2) — 3) L~ 4 =
(D p (2) 3 (3) 7 4) p
39. T\ otpfa # fysi i wen feadt 20
(1) 8
2) 10
3) 11
4) 5
40. = fou T YW H TH WM % Yo W A Rufd § fRE wRR ¥
foarft & @' i 1w omsfaE W Ffew e S 3k EE TS
% foeg YW ®E-8 % B A W H ¥ g
4 2 1 6
1 3 3 3
2 6 2 5
(1) 2 (2) 6 3) 1 4) 4
41. OISH 3¢ HE, 3¢ Hl AT HEl, IS bl TG hal, dl WMEAHDT ST& [hH Harl ?
(1) e (2) 32 (3) T (4) s
42. S TR K IUEN FN g Afhd "G HI A H WM | WEAT T H
SA @ Afehd WGk 3O Sl @ 8, A HOH Sl HH a7
(1) g (2) @fuen (3) 3= (4) W
TF HE Fq T
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43.

44.

Five years ago John and Ahmed’s age was % and % times respectively of

Sharad’s age at that time. If John’s age was 8 yrs at that time then what is
the addition of ages of all three, two years later?

(1) 38 yrs (2) 53 yrs 3) 59 yrs (4) 40 yrs

There are two married sons and three grand children in Radha’s family. Find
minimum number of members in Radha’s family.

(1 12 2) 11 (3) 10 4 9

Q.45 to Q.49 Direction:

45.

46.

In the given questions first term has a specific relation with the second term.
The same relation exists between third and fourth term. Identify the relation
and select the correct option to replace the question mark.

Maharashtra : Governor : : India : ?
(1) Prime Minister (2) President
(3) Chief Minister (4) Vice-President

Mo
ER

>Xilb dls?

d ~ < b
b o o d
(1) @ (3) “

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ|KLMNO|PQRS ST|UVWXY

43.

44,

S IR ofgHg I Ul a¥ U hl Y MG h I GHA h MY H HAM:
1 1

g,zﬁ%aﬁﬁwwﬁmSaﬁﬁaﬁaﬁ:ﬁﬁZaﬁ%

9 % MY HI INGA fhad a9 FM?
(1) 38 =¥ (2) 53 =§ (3) 59 =d (4) 40 =d
H. Turehig kW A Q1 foenfed (widiger) e R AW 9d wl @ 3w

W U HhHY HH fhdd @M BAI?
1y 12 @) 11 3) 10 @) 9

T . 45 | 49 % foro gEmn -

45.

46.

frafafad st & et @ g Ug H SO HEY 3 9w & Hew W T =
9§ B 98 HEY ¢kl THMME o M W AT I W AT
% g ® T A

BN : TSIUTA 2 WG : 7

(1) g (2) TseTd! (3) eIt (4) ST

M

A > Xilbh dls?

q ~ 7 b

b o o g

(1) (2) 3) 4)
TF HE Fq T
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47'@1@11 . ?
7 &) @ @

(1) () 3) 4)
48. 13 :169 :: 15:7
(A) 225 (B) 175 (C) 195
(1) Only ‘A’ is correct (2) Only ‘C’ is correct
(3) ‘A’ and ‘B’ both are correct (4) ‘A’ and ‘C’ both are correct
49. 27 :14 :: 18 :7?
(1) 13 2) 12 (3) 15 4 17

50. In the adjoining figure, if one walks from ‘House’ (A) to ‘School’ (B) in the
direction of the arrows, how many times has he to turn to his left?

B School
N ]
House
(1) 6 times (2) 5 times (3) 11 times (4) 7 times

SPACE FOR ROUGH WORK
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A B CDE

F GHIJ| KLMNOIPQRS ST|UVWXY

47.
O e\ YY) e

7 &) @ @

(1 2) 3) 4)
48. 13 : 169 :: 15 : 7
(A) 225 (B) 175 (C) 195
(1) f&d ‘A’ @ ) & ‘C =&
3) ‘A’ I ‘B =& 4) ‘A’ s ‘C ud
49. 27 : 14 2 18 : 7
(1) 13 2) 12 (3) 15 4) 17
50. H@H 3Tehfd H WX (A) § WigwTenm (B) ST W ST Bl Al ¥R W HISuIel
Th Uged & U foRddt SR Wit SR g dem?
B (9rasrmedn)
A ]
()
(1) 6 @R (2) 5 @R (3) 11 "R (4) 7 9R
TF HE g A
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51. Rahul says, “There are 6 boys standing in front of me in a row and Amit is
at the third position behind me.” Amit says, “l am standing next to the boy
who is exactly at the middle place in the row.” How many boys are standing
in the row?

(1) 18 2) 19 (3) 21 4) 23

52. In a certain year if Independence day occurs on Tuesday then in the same
year which day would be the last day of the year?

(1) Sunday (2) Monday (3) Tuesday (4) Wednesday

53. The adjacent figure shows the number of players playing different games.
Observe the figure and find how many players play at least two games?

‘ <— Kabaddi
(1) 34

Cricket — 2) 39
3) 21
4) 47

Hockey —— 14

54.  Select the correct option to describe the given venn diagram.

(1) Male, Female, Doctors
(2) Numbers, Even numbers, Odd numbers
(3) Trees, Mango, Jackfruit
(4) Country, State, District

SPACE FOR ROUGH WORK
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51.

52.

53.

54.

ABCDE|F GHTIIJ|KL NO|PQRST|UVWXY
6

TgA HeEdl 8, TH Hak H W I 6 d5h @S & 3N W fIw dEl Tom
A we 27 s w3, CF A F weE ¥ oo g @m 40 @
30 Far H fohaa foemeff gme

(1) 18 2) 19 (3) 21 4) 23

Tk 99 TAAfed WG bl 3T d 39 99 1 M@ IR hiA-91 g ?
(1) AR (2) HHAR (3) WIER (4) FHaIR

Oq MpfaH faefedl &l T@a Rl d THH R R G Wd Gomdrd
fagenfeai &1 @ foradt 87

%m@\gﬁ

‘ (1) 34
fohepe — (2) 39
(3) 21
y 4) 47
Blehl ——

fAfafad o9 ST o1 SN JUH HHEEl THE HHE-A 27

() g&u, f&, sk

(2) T, wmae, fovmEen
(3) d4, AMW, BUH

4 @, T3, e

T HE T AW
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55. In the given square pattern, select the correct option to replace the question mark.

11167117 Elg 73
2) 61

(?
41| 2 | 47 3) 59
23 | 31 5 (4) 53

Q.56 to Q.60 Direction :

A set of terms is given at the beginning of the question. These terms have
some common characteristic. Find out the term from the alternatives that matches
the given set of terms.

56.  Step mother, Snow white, Spring time, ?
(1) Distrust (2) Foot print
(3) Black white (4) Day night

57. Hard, Challenging, Testing, ?
(1) Easy (2) Joyful
(3) Effortless (4) Difficult

58. 25, 123, 62, 6, ?
(1) 341 2) 216
(3) 511 (4) 218

59. 297, 135, 501, 189, ?
(1) 503 (2) 355
(3) 243 4) 781

SPACE FOR ROUGH WORK

0302-Hindi Set-A 20 of 32 Contd...



ABCDE|FGHTIJ|KLMNO|PQRS ST|UVWXY

5S.

frfefed =qds # TeAfoag & T W HH-E T g e

116717 E;; Zi
l’)

41| 2 | 47 g

23 | 31 5 (4) 53

T . 56 ® 60 % forg gEem -

T h YE H F® Ug U MU F| TR TH GuH foRiNaT % OIHER TH T
PN BT B 3@ UgE W G we wiig # ¥ gy

56. dgsg, TEHME, dEEl, ?
(1) g (2) dAUTER
(3) HHER (4) A - ar
57. ¥, @A, 90, 7
(1) 9 (2)
(3) &W 4 fg
58. 25, 123, 62, 6, °?
(1) 341 (2) 216
(3) Sl (4) 218
59. 297, 135, 501, 189, °?
(1) 503 (2) 355
(3) 243 4) 781
TF HE Fq T
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60. Question Figures:

(YN T /\

Answer Figures:

Q.61 and Q.62 Direction:
Select the mirror image of the given question figure from the options.

61. Question Figure:

752

) 3) (4)

(1

Answer Figures:

NY4

AeS | [ Sey | SSY

(1) 2) ) (4)
SPACE FOR ROUGH WORK
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F G H I

K LMNO

PQRST

UV WXY

\//

‘)

E@@.

I9T . 61 deT 62 % Totw gwAT -
frafafeq seaemepica 1 3gdu i ufqwr ket B A® wERh oTeRfadl |
fiftaa & 99 & @ 9N

61. UeATHIA

752

IcdR TR

<

Y4

ARS

NGAY

INAY

(1

)

3)

4

T HE T AW
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62. Question Figure:

Q.63 and Q.64 Direction:

Answer Figures:

% 7

Select the water image of the given question figure from the options.

63. Question Figure:

64. Question Figure:

MNZ

Answer Figures:

(1) (2) (3) 4)

Answer Figures:

NN INNX| [ ZUM| SM

(1) ) 3) (4)

SPACE FOR ROUGH WORK
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62.

(1

)

U9T . 63 AT 64 o ToTw geAT -

Frefafad sedeepfaal o1 9t § fe@Erlt ceren widfes 8 g ag Rl
st g fiftssd +0 ft 99 & @ T

63.  WEATEHId

3)

IR ATHTA

7L Ry

(4)

64. UIATHIA

(M

)

3)

(4)

MNZ

NN

IANNX

ZNM

MM

(1

)

3)

(4)

TF HE g A
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65. Identify the pattern and select the correct option to replace the question mark.

(1) 25 2) 6 3) 7 @) 17

Q.66 and Q.67 Direction :

Word BUT TAP BAT
Code A @ OV A XA X @

In a certain code language, symbols are used for different letters. The sequence
of the letters and of the symbols may not necessarily be the same. Observe

the code in the above frame and answer the questions.

66. Which symbol is represented by ‘U’?
(1 A 2 e
3) O 4) =

67. How is ‘TOP’ written in the given code language?
1 revVv 2 VvVeLl
3 wAV 4 ANV

SPACE FOR ROUGH WORK
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65. TmfafEd ga Ipld H TRARHE o T&H W HH-H @ gl I8 @ H
u Ffeea =)
(1) 25 2) 6 3) 7 4 17
I9T . 66 deT 67 % Torw geAn -
eq BUT TAP BAT
HHTE FT | A @ O | VA x| A G @

Iqed ROt & Weal o A I fuEl 1 wH wEE & g uEn A g,
J o H W T . 66 9 67 % I W@ H ¥ gHm)

66. ‘U 3@ 31w & fou wH-w foqg emom?
(1) A 2 @
(3) 4 (4) =
67. 3IW & TS Hihides WNT H ‘TOP’ A wee form gspr for@m?
(1) eV 2 veo
B AV 4 ATV
TF HE Fq T
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Q.68 and Q.69 Direction:

68.

69.

70.

71.

Select the identical figure to the question figure from the options.

Question Figure: Answer Figures:
A A A A A
G () (D) ()
(1) ) 3) (4)
Question Figure: Answer Figures:

Bosbe

In a certain code language. If CAT = WYE, MEN = MUL and DOG = VKS

then how will you write the word which is opposite gender of ‘OX’?

(1) KB (2) WOC (3) WKC (4) RBK

( ABCDE FGHIJ KLMNO PQRST UVWXY )

In the given alphabet series which letter is at the sixth position on the right
hand of the letter which is at fourth place to the left of the letter which is
nineth from the right hand side of the series?

() R 2) S 3 G 4 T

SPACE FOR ROUGH WORK
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T . 68 qAT 69 & forw HwEAT -

68.

69.

70.

71.

Ffiad TRl ¥ g9g  fUeHarell SIBld WERN IW ARl W OH

U

o T

D GsD D ED D
. (D (2)W e 3) 4

S NN LNV LNV NYOEN
WWWW\@M

forgd 21 @ 3 ywr § ‘OX’ o1 fawgrfarit see @ fa@m?
(1) KB 2) WOC (3) WKC (4) RBK

(ABCDE FGHIJ KLMNO PQRST UVWXY)

I H A <kl TRl M W Al FeW k SR AWk AT AW h
TRt 3T ¥ WS & hI-HT BI?
(1) R 2) S 3) G 4 T

T HE T AW
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72. Letters C M D K L w | N R P
Numbers 7 8 5 4 2 9 6 0 3

Observe the given table and solve.
D+W=+P-N+L)=2?
() R 2) P (3) L 4) N
73.  Purva is facing the south-east direction and she turns to her left two times at

right angle and does Shirshasan. (up side down, with head down and legs up)

which direction is pointed by her right hand?
(1) South-west (2) North-east (3) South-east (4) North-west

74. You see an injured sparrow on your way to school. What will be your

immediate action?

(1) T will loudly call my friends.

(2) T will neglect the baby sparrow.

(3) I will inform the Head-master of my school about the incident.

(4) 1 will serve water from my water bottle and shift the sparrow to a safe

place.

75.  Whose action from the following is the most correct action?
(1) Raju collected all the garbage from the varanda and burnt it.
(2) Sameer threw the wet garbage in the dustbin.
(3) Sameedha collected all the garbage from her house in a bag.

(4) Suresh converted wet garbage into manure.

SPACE FOR ROUGH WORK
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72.

73.

74.

75S.

;TR | C | M| D|K|L|W|N/|R/|P
dAh | 7 8 514121961013
IW Hl grefl 1 g wEw -
D+W=+P- (N+ L) = fra?
(1) R (2) P (3) L 4) N

A (Sfaur-qd) foem it ot dg wh @ g W @ 9 aRf SR wwehw
T gt ot e Siwfew fren @ SEeRt g omy eW-EH fewm A @me
(1) Fhea (cfaroft-ufyem) 2) T (IT-7H)

(3) AT (gfeur-vd) (4) @ed (IT0-ufz=m)

JMUh gl % W % U W Ffearn s=n qguran gen femmh fom i

AT A FAT B ?

(1) facAgHR *h gRdl ol T /AT

) fafem & = H I/ am & Fh/gm

(3) SUUHd UAT TEATEAUHh ol ST /T

(4) geh! a1 gt fafgm % o= w0 o SEeRl gida TeHw
it /Tl

ffafea & @ froeht ot waifoss e wifea gefi?
(1) TS AMH H HIU THHAT Hleh  START

(2) T e ®aU FEUHE § ST

(3) YN W H FIU TH & fFeu # wHHa T
4) @ 3 fid N 7 @wg AR R

TF HE Fq T
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